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S B HEE B ER (CET-6) BAOMENRE

—. #E

LEB U (Error Correction) FEERMRF (KEFEAEFEAN) "5
M, BERBEERST. REMMERZHIGENR, RS EHKEY
BES.

HEEL, FEAFENEERLAR: ENEERHRREMETAR
HBRMT, MERESGSESTEINEE. HEFETEHRE. EEEPH
R (25 20047, FHECPR 10 TIREES, HEZITHNRLSHE. 817
AR, BIROERE 450

L EXER. A FXFH AR, SHAERTRRERY, BNEE
RoWFEERE LR, T BREEL MR, ERUHERIFESRE
M HA B

2. AR, BERIHERIFEERMEHEANTHE,

3. MTFHEE. EXRA “T 7 SRHREIRA, HEHIMABAEHE.

4. WTHR. ERUESRE, FEZBAR /7 5.

X AFEAP, HUS L B2 MERNE, 45 80%6~90%. A&
Rif. H2, B3, FAHBROWMERISTH 1 H—#, CREREEELE
EMAA R EREFRIEHR, FEXEBMNSHER, 8. LR
W, REAELHREBLED, WL, GEMEEEEENARLATS, H
AEHERERRNEM, HEEUEEREENERLR, #5. 7.
B, HAMS 2 EREHMSOBE, R ERMIERFST ERY
ER.

AIRGEREERT. EEK, FEERE LS E N EN RS
EMBEFIERESREES . BT HIFXREE, LR TVRRREMNER
¥, ENEEMEERNESRARBRENMLTEREMNER.

AR O RAX. BREHRAERRSH I, HEFS. $12,
19, 328, K36, 45, H52, FIsMEMARAWER. LR
ATiLEE “EEBREER”, 5ISREHCRERR, BEFEIMEK. Hib,
FIEE, LENERHURERNARRRZ —. Wi, ARSI EEIAME
ETLREREFTAR. '

=, B
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ESREER, TREEREEMET, BTHEFENESMERMT.” &
B2 ROTLHEAG “ LT A7ES) G ¥, 8D —E” BRI, “487
77 A SRR ARE, XBEESTHE M HENFEFESHE—fT. “—1
i#” (a word) HI3§ one single word, #EXt A& H4GIE (phrase), T X R
E. WG —-ERONENEE. A, EXEMAESILRGREPE R
FiEFEAENE, EARRESHEFRAAGN. M4r BYRERFR
FEURSEHBLWNE, XBERT “RESH—MA” MEL. €CAH
P E 7S Rk B U TR A R PEAs BRAT LR Ry, AR EERE, W
REREREN, $e¥mER, SBERESLFEMETKE, BUAF
BWENRIE, AR, XREBEESIEEMN.
B RATRAARN T EE PR B
A

What is the nature of the scientific attitude, the
attitude of the man or woman who studies and applies
physics, chemistry or another science?

We all know that science plays an most important 1.
role in the societies in where we li'\;e. Many people
believe, however, that our progress depends on two
different aspects of science. The first of them is the 3.
application of the machines and products that scientists
and technologists develop. New drugs, faster and safer
means of transport, new systems of applied knowledge 4.
some examples of thiswaspect of science.

The second attitude is the application of the special 5.
methods of thought and action that scientists use in their
work.

Key

1. most. / 2. where; which

3.. them . these 4. knowledge . knowledge are

5. attitude aspect ,

EXZEBY, ERAES 1~5 S7THEHA —MACR AR SEHAER.
R 1 Y YRIAT an RIF-HHE, Bl the, FHREET, HIRXXRE, BXiR
“BIERERNEFEHHSPEEREENEN", T ‘ATREERMAAE
B X -y EHTUA. HEME most —iF, XBELAT AL
(meaning) S%5H) (structure) B —. 7 2 FTH RN where MR, which, #
B—~# which AR BTN, UUBHIRTE A societies, 7EH 3 7RI

2



them 145, RIBLY these, FLJ544ME T 41 aspects, XRRFRHMMF. &
B Afyh, sTEERT =435 E1E, B new drugs, faster and safer means of
transports , new system of applied knowledge, ME Il &k /8 1E 3hid, &N 7
knowledge 4 some examples 2 [A]4f A —A~ are, A N FEH TE BF—B
WAL EKE, PFEHDER, HREKR LT, FHREE _RPEHT two
different aspects LA J the first of these, 4R attitude —if /K &, VG HIE N
aspect A %7,

ER=B#HEERELFES WA Passage 3.
B

When you read a story in English, do you read it
for the story or for the English? This is a question that is
not so foolish than it may seem. For I find that many
students of English pay fAr less attention to the story 1.
than to the English. They 'réad, enjoy and for a long
time afterwards forget the story, but do not care to study 2.
the use of words and phrases in it. For instance, they

. k’l‘:'!- f ‘

cherish the memory of why the mystery of the eternal 3.
triangle is solved, put do not remember a simple 4.
sentence in the story and can tell what preposition is used 5.
before or after a certain Wnérd in the speech of a certain

character.

Key
1. less: more 2. forget: remember
3. why: how 4. simple; single

5. can; cannot .

X —BREXFHH 1 EBLHBRE LTI, ARERRK LBBEEEM
PRIt SR, R REREAE - AR REERS, WeRIER
HAEE—MKEMNTHE, XERAERT. MRRE, R85 TRk M E.
TR, WA, 2B ETXBR, BLSBEHE.

ARBTRE, 5N — ik E a9 BE e A PER R F T E RS E RN
WE, B 1179 less REEk 2l more A& A5 . B 2 Ay forget NI
F SU3$SL B9 remember; TR 3 B R —AHIN, HMWEEMNKFHERE
£, AMIBXOHLURBERMM, RASRNE., #A%, Hib, ¥k
= AR R ERBROHWRE RIET, B why SR how A 3. &
FRE 4 B H simple A single, I ALIRIAARE—AHUARILHE, HIFRRIE
REFHRPEARERTEA]. EBS 4, BELTXEARR —BREEHFA
XEE, MEREHREAEENMAEANEATHE—FFANMERE

3



EREEEGE, BV can IEN cannot, MARFE can J5HE IR not —id
R FTH . (WS W Passage 1 PIHSHEL )

= RENEEI R

Part IV Error Correction (15 minutes)
Directions; This part consists of a short passage. In this passage, there
are altogether 10 mistakes, one in each numbered line. You may have
to change a word, add a word or delete a word. Mark out the mistakes
and put the corrections in the blanks provided. If you change a word,
cross it out and write the correct word in the corresponding blank. If
“you add a word, put an insertion mark ( A ) in the right place and write
the missing word in the blank. If you delete a word, cross it out and put
a slash (/) in the blank.

Example .

Television is rapidly becoming the literature
of our perjdds. Many of the arguments 1.
haying used for the study of literature as a school 2.
subject are wvalid for A study of television. 3.

Passage 1

When you read a story in English, do you read it
for the story or for the English? This is a question that is
not so foolish than it may seem. For I find that many
students of English pay far l;é attention to the story 1.
than to the English. They read, enjoy and for a long
time afterwards forget the story, but do not care to study 2.
the use of words and phrases in it. For instance, they
cherish the memory of why the mystery of the eternal 3.
triangle is solved, but do not remember a simple 4.
sentence in the story and can tell what preposition is used
before or after a certain word in the speech of a certain
character. ]

Of course, it is quiet right to read and enjoy and 6.



remember a story, and so long as one wants to know of, 7.
the story only, one need not bother about the language.
But the case is quite different from a student of English. 8.
I mean a student of English as distinguished by a student 9.
of stories or what is called the general reader.

As you may also have gathered from the below, 10.
you ought to read very carefully. (199 words)
Key to Passage 1

1. less; more 2. forget; remember

3. why. how 4. simple; single

5. can; cannot 6. quiet; all/quite

7. of; / 8. from,; with

9. by: from 10. below: above
E#IFL |

MR- RIS R (RS T BAEX MR FH A BT EEERE?
BRI TFHEEMEEEMR? XM ELE LERFRABMRHE, HX
AR FHAREAFZEIEENEE, WNTRFERS U HPHREIE, &
SRRIC. ARATIBHEIFR WX 8 H, I EERRR KA HE EEUTH, |
Xt FEAAE AR A, IRREZMUAR. fm, diIEcHus
PRI = AT R BRI RN, ERES , HXEREEM AT, A
—HHERE R, RITHEERGERN AamEaS, EX AR
JETE . AR RA A5,

LR, E-IEE, KHE, AT, IVBRMBEFHHE, THME—
PR EIERE - MIEHHE, BoERRELEREEXENET
Tl (BTN I RERMEERR, BRRA T, RiIEMERILIH
NFEAIWIER L, DA HIT AR (UL A0 S 3 2 A s T — R & .

MU ERTR, (RITHRAESSR, TER R B, WAEERFA.

Passage 2
If you have a foreign teacher who gets a bit
confused about vocabulary questions, you should not
wonder why. Your foreign teacher is not here to teach
you the thousand same versions of a word in the English 1.
langi;age. Most likely , one is hete to teach you English. 2.
There is a big difference among learning and 3.
memorizing. Learning, to me, means understanding

5



that something means when you see it in the real world. 4.
A good example is when you see the word “park” = 5.
on a sign at a corner and you realize it applies to us. 6.

That you could get hurt if you don’t stop.

Memorization, on the other hand, is seeing the
same word, being unat;le to give a definition, and 7.
getting killed by a fast car that you didn’t stop for.

If you have a foreign teacher, do not waste his time
on things as words. Instead, listen to what he says, and 8.
see if you can understand him. Ask him the hard
questions.

Say to him, “What is the meaning of life?” See
what he says. Most importantly, see provided you can 9.
understand him. If not ,“try again. And again. And
again. And late, you will be learning English. (200 10.
words) .

Key to Passage 2

1. same. different 2. one. he

3. among; between 4. that. what

5. “park”. “stop” 6. us; you

7. unable. able 8. as; like

9. provided. if 10. late, then
SHEY 2

MRV CLIMEBIN , fXHENL FEE LR A ER, KR LRBIHE. 4
BEHMAREBRIGEPRNRIAT AR LB AR, F2 A0, BREREK
WiEM.

FIGRIERWE ZAABRRAOES . ERER, ZIBREL KEAR
LAEFTANR—-FP, REETETHE L.

wim, LYRESMLMREEER B XA, REZIRIIEER
R—IMRIEAET, FRATERYG.

MICERBR T FA—ME, BEHX IR BRREFTS %,
B KRR FES.

R VR GLSME T » R BT B 2 i (U R IR B 6 e ) AR
B, SRRt 4, BERTVE. M@ h#RERY RS,

A i, “EFHBELRM L7 BEMERES. REEME, F
BT IEAMEAE. MRITAE, ML—TF, AT, R

6



HIXEE, A RRIEEFEIE,

Passage 3

What is the nature of the scientific attitude, the
attitude of the man or woman who studies and applies
physics, chemistry or another science?

We a}ll know that science plays an rr}_;b’st important
role in the societies ii where we live. Many people
believe, however, that our progress depends on two
different aspects of science. The first of these is the
application of the maghfnes tools and products that
scientists and technologféts develop. New drugs, faster
and safer means of transport, new systems of applied
knowledge:some examples of this aspect of science.

The second attitude is the application of the special
methods of thought and action that scientists use in their
work.

Which are these special methods of thinking and
acting? First of all, it seems that g unsuccessful scientist
is full of curiosity —he wants to find oixt how and why
the universe works. He ra;ély dirggts his attention
towards problems which he notices have no satisfactory
explanation, and his curiosity enabies him look for
underlying relationships even if the data avaii@ ble seem
to be unconnected. Moreover, he thinks he can lmprove
the exming conditions, whether of pure or applymg
knowledge, and enjoys trying to solve the problems
which this involves. (203 words) '

Key to Passage 3

1. most, / 2. where; which

3. tools: / 4. knowledge: knowledge are
5. attitude ; aspect 6. Which; What

7. unsuccessful; successful - 8. rarely; usually

9. enables; makes 10. applying. applied



EHEX 3

BESHEOUREVIFNAYWE. AEREMBEHANERRESE
AR 42

RINBAE, HEERIMFEEFHHLPEEEREAFER. KMIFEA
HIERINOELBRTHEHWAIRFATEH. F—HTEHRBERAMERLR
BRI SRR . Frngii, EmdE, EnEen3GE TAM
7 RR B ik R R Bk A X T Y — B

58 7 R B 507 A R BT R A R B AR IR I LAE T 2 A

AR RRE BT R T ERA AR B, BR-MEheRE
R HO—RBERKETHEFRNER N 23X BEITH, fEHiE
EARLAE R M A SRR R . B 3 7 & Mol R R A BORHBL 3 B £
BELT, EFFOCREMEIREFHIENRE. TWEAU SRS %R
BEARRELHIVERN A AIRWER, WHAT HRBREFTY RHEH
[E183

Passage 4

A scholar is, in my opinion, admited not so much
for imparting knowledge to us as for making us think by
ourselves. Many of Mr. Ge’s views on learning English

is well worth knowing. Let’s have a few in general. 1.

“This seems to me that the ave/age Chinese learner 2. L
of English has a fair knowledge of grammar and a fair 3. Lt
large vocabulary, and that then he writes English, he 4. :

makes sentences according to his knowledge of grammar

and his understanding of the meaning of words. The
result is that one’s English often seems to be correct 5.
enough but ,isJ not really correct. Begause correct English 6.
is a matter of usage, not merely a matter of grammar

and vocabulary. ” He is ignorant the fact that English 7.
and Chinese are entirely different. The way to write
correctly is “You should use no construction, no form of
expression, and no combination of words that you have

not seen in your writing,” or “use no word that you are 8. . Y. -
not sure that you have seen used by standard authors,

and to consult your dictionary in the case of doubt.” 9. /
This principle is not only applicable to English but to any 10.

8



foreign language as well, and even to one’s mother
tongue. (205 wotds)
Key to Passage 4

1. is. are 2. This: It

3. fair. fairly 4. then. when

5. one’s. his 6. Because; For

7. ignorant; ignorant of 8. writing; reading

9. the,; / 10. any. any other
BHF M

ERERK, —FHEZIHWAREE ., SHEEH TRERMNR, Ao
o TR 01000 B T Se A A B2 BRI L R E AR ik
RADRE LA B

“URBAE, FEGEETEAE R HERAIRN A — 28l &,
TEGEEMWRE, BITHRE DR MR TR ERES, SRE.
A5 B E AN PRIES, EXh EFRIER. FYERHIEER IR
1 P A N1 AU RIE AL . b A MEX — 3 3. PRE
SRREGPEEL. EROBIEITER: IR RE R E R ENRRIH
fEfEH . REFRRAWAS” B “MR-MAGRAEEEYE LN
BAERMA, BEEREM; WMRERN, BHEAL.” IMRUACGER T
%iE, mHEER FHAET—FSEE, BZERATAEE,

Passage 5

Like all private firms, insurance companies must
charge enough for protection to pay their operating costs )
and make g profit. The main factor affécts the price of 1. <
insurance, however, is the amount df risk involved.
The more risk an insurance company assumes for a
policyholder the lower the premium, Risk is measured in 2.
terms of probable losses. ’

An insurance company must collect enough money
from all policyholders to pay the claims of those who 3.
have losses A claim is a request for payment of a loss.
It is possible to tell, of course, which policyholders will 4. ¢
have losses. But it is possible to estimate with some
accuracy how miich will have losses. A company does 5. N
this by studying its past losses.



For example, from its records, an insurance
company can tell how many of its policyholders will
hardly die each year. It can tell how many policyholders 6.
will probably be hospitalized and unable to work. It can
also predict how many homes will probably catch fire
and when the average loss will probably be. Using this 7.
information a company could figure about how much it 8.
will have to pay in claims during a year. It can then
determine what a policyholder must get for protection. 9.

I

As some people would say, its insurance premiums are 10.
based on probability. (216 words)
Key to Passage 5

1. affects; affecting 2. lower ; higher

3. policyholders; its policyholders 4. possible; impossible
5. much; many 6. hardly; probably
7. when. what 8. could: can

9. get. pay 10. its; /

[F] BR—BRWASHIBRRATERADEYXE, 2XLE
216 7, 74 CET6 R A MM ER X R — I 6 RS HEEHRE . A
WA LB CAA A, ERERRROER, £ A TR LS THE. ¥
AR, HBI% 8+ 10 1, “HBHWAE KERC HHBT HE X — BB
B, HUTXEE,

1.  “and make a profit. The main factor affects the price of” 6 £§ Z-& Mr 4 [F W]
B RS, ¥, B—NE, FLECHE, BREANE-FRT
—fT R IR LR R ATE 4 NH F AR L HKER .
Htm, #€ a profit B, profits, B profit T s, XM X T a, BRFERT
“Hh—#” RN, R, A4] affects 5, VB affecting, HE
£ affects Z M that/which, K ft4? B AT & —17EFEFE S is.
mRAIHAB)E, WA and B, T FHBLT however, B W, atfects
FARG is 35, HRER. %Fﬂﬁ@ﬁ*ﬁﬂ?ﬂi%lﬂﬁﬂﬁﬁmﬁ%ﬁ
N,

2. “policyholder the lower the premium Risk is measured in. ” XR—PMEFHB
RIEVERESH. FTEHEZBEL L, B “BRRAFIBENEAR
MK, RGBS .” BN lower BUR higher, XKIFFEK L
HSR, ERREF AR EZXTRIRSN, Tk 6 KESuETH
RERLE, LAGIREESEMR.

10



3.  “An insurance company must collect enough money from all policyholders to
pay the claims of these who have losses. ” XRE— P ENF &4H, HEF—
who 3| By E M) . RELIERR, 7E all 5 policyholders Zlﬁlf“iébﬂﬁﬂ
its BRI the, X B MMPL its HfE. FA)F: REARLANE LT
BRAFEBRERNSBORITEZ R ENRE.

4. “It is possible to tell, of course, which policyholders will have losses. ” A /] &5
] 2 FJRERE L LR . 4 possible B impossible 74 & B 4. 224
TN REIRARERABEE. B8R, AILGEME, FRERER
AR ZHE,

5.  “But it is possible to estimate with some accuracy how much will have losses A
company does. ” X R —AMHRIFBNTIHENZ GA]. ERFENTD P E
BRE LA H ) policyholders, 5 AT # A&, M H M many, AR
much, @AJE®F. HATUMESE@EMMAITEEOREBAKREZRE.

6. “... hardly die each year. It can tell how many policyholders” 71X ] 3 M
H &R 4H —4H how many 5| EFENT ., NERNAKEE, Lk
T3¢ B 44 3K probably , B] I hardly iR, L5 2, probably, 7 Mk
FERT. WHTER . 2660 . *%ﬁﬁﬁ/\jﬁﬁ%ﬂﬁﬁﬁﬁﬂ%tﬂ
SEFEORBAFERT,

7. “and when the average loss will probably be. Using this” X 2—PMENE S
q), WHAENEFENG, B when FHEF _MRIFAE, REEE, MK
A what % . KA HER : BRSO EE W] A E 5 KK A KPR
RETHREEZ V.

8. “ ... Using this information a company could figure about how much it will
have to pay in claims during a year. ” X&—PMHEE MiRIZENGHEN
Hanh, Ak LER, HRFEAFESNENE S could, HiEF A AF
fyBtAS (will have to pay) , #R ¥ could B, can A %f . @48 HF: HIE
BEPE, RRAFREEE -FRERBTEFEXTE 4.

9. “It can then determine what a policyholder must get for protection. ” 33X /A] 3 M
HEEMARE %, B BIiR, QR ge A&, B, Mk pay
AETER. 2AWF. TRETVUREEMMRALFTELHRAE.

10. “As some people would say, its insurance premiums are based on probability. *
RR—NMEEH, F—H As 5L EENG. HEUFLBRA L%
%, HREAER T, FERIAYWEAN is THE, NTHE. B
its FUAE 15 1 ¥ ¥ 4 i protection & policyhotder, B BB A, B F
premiums y ¥, HHARYERE, T2, WEHEE:. EWAE
ABTH . RE 282 LA SRR SRt

SHEYS _
REAFHFEORBEAE —#, LIRSS RERUZTESHE

W RIHRBAIE. 410, BHRRNMBEHIEEERRENBA KD, R

11




